ASSEMBLY INSTRUCTION




PART LIST

C M6*45

8PCS

B M6*35

6PCS

E 4#

2PCS

A M6*15

16PCS

D M6*20

10PCS




Step 1:

C Mo*45

8PCS

E 44

1PC

*2

NOTE: PLEASE DO NOT TIGHTEN THE BOLTS UNTIL ALL FIXED




Step 2:

B M6*35 4PCS
D M6*20 4PCS
E 44 2PCS

NOTE: PLEASE DO NOT TIGHTEN THE BOLTS UNTIL ALL FIXED




Step 3:

A M6*15

8PCS

E 44

1PC

NOTE: PLEASE DO NOTTIGHTEN THE BOLTS UNTIL ALL FIXED




NOTE: PLEASE DO NOTTIGHTEN THE BOLTS UNTIL ALL FIXED

Step 4:

4PCS

1PC

A M6*15

E 44




NOTE: PLEASE DO NOTTIGHTEN THE BOLTS UNTIL ALL FIXED

Step 9:
A Mo*15

4PCS

B M6*35

E 4




NOTE: PLEASE DO NOTTIGHTEN THE BOLTS UNTIL ALL FIXED

Step 6:




	111
	图纸和视图
	模型


	222
	图纸和视图
	模型


	333
	图纸和视图
	模型


	444
	图纸和视图
	模型


	555
	图纸和视图
	模型


	666
	图纸和视图
	模型


	777
	图纸和视图
	模型


	888
	图纸和视图
	模型





